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JlE2al 49,212 51,235 22,023
J|1E23&H| 49,212 51,235 22,023
201 et | 14,712 14,395 317
01 At 2telt] 14,082 14,395 A313
ORN2E+EH] 6,832,000& 6,832




M 2s0l=1
M #HYRAZH(2a0=1)
Chel: J1=2 &l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OJlzgf=d SAHI 6,610,000& 6,610
O=&4d 24| 640,000 640
02 S3=gHl 630 0 630
o=sEz 2,100& 30021 630
202 04| 28,560 33,600 Ab,040
01 =LHOLI 28,560 33,600 25,040
OJl2gR+8 0yl
280,000& x 17 +6E 28,560
203 HE=H] 5,940 3,240 2,700
01 V22 HRFa| 2,700 0 2,700
OJ|2=gge=a]
3,000, 0002 *90% 2,700
M FA2SHIFII 3,240 3,240 0
OFAMEZE =
3,600,000 *90% 3,240









